
X[0] <= 0.5
mse = 0.94

samples = 26175
value = 0.003

X[17] <= 0.5
mse = 0.634

samples = 20471
value = 0.273

True X[16] <= 0.5
mse = 0.831

samples = 5704
value = -0.97

False

X[1] <= 0.5
mse = 0.185

samples = 1151
value = -0.099

X[19] <= 1.501
mse = 0.652

samples = 19320
value = 0.296

X[7] <= 0.5
mse = 0.153
samples = 69
value = -0.338

X[21] <= 1.699
mse = 0.183

samples = 1082
value = -0.084

X[21] <= 1.576
mse = 0.093
samples = 68
value = -0.289

mse = -0.0
samples = 1

value = -1.644

X[32] <= 0.5
mse = 0.08

samples = 64
value = -0.26

X[20] <= 0.5
mse = 0.11
samples = 4

value = -0.651

X[19] <= 0.127
mse = 0.062
samples = 44
value = -0.197

X[19] <= -1.38
mse = 0.092
samples = 20
value = -0.392

mse = 0.048
samples = 29
value = -0.117

mse = 0.057
samples = 15
value = -0.331

mse = 0.0
samples = 1

value = -1.238

mse = 0.071
samples = 19
value = -0.365

X[21] <= 2.045
mse = 0.055
samples = 3

value = -0.803

mse = -0.0
samples = 1

value = -0.197

mse = 0.001
samples = 2

value = -0.699

mse = 0.0
samples = 1

value = -1.324

X[24] <= 0.5
mse = 0.179

samples = 1047
value = -0.074

X[3] <= 0.5
mse = 0.223
samples = 35
value = -0.344

X[2] <= 0.5
mse = 0.178

samples = 670
value = -0.036

X[9] <= 0.5
mse = 0.174

samples = 377
value = -0.139

X[26] <= 0.5
mse = 0.195

samples = 299
value = -0.093

X[21] <= -0.055
mse = 0.159

samples = 371
value = 0.011

mse = 0.2
samples = 226
value = -0.058

mse = 0.166
samples = 73
value = -0.202

mse = 0.144
samples = 258
value = 0.059

mse = 0.175
samples = 113
value = -0.11

X[21] <= -0.995
mse = 0.157

samples = 300
value = -0.108

X[14] <= 0.5
mse = 0.228
samples = 77
value = -0.277

mse = 0.103
samples = 88
value = -0.012

mse = 0.173
samples = 212
value = -0.146

mse = 0.221
samples = 73
value = -0.256

mse = 0.197
samples = 4

value = -0.653

X[19] <= 2.527
mse = 0.241
samples = 21
value = -0.507

X[21] <= 1.852
mse = 0.106
samples = 14
value = -0.112

X[5] <= 0.5
mse = 0.225
samples = 16
value = -0.629

X[11] <= 0.5
mse = 0.071
samples = 5

value = -0.088

mse = 0.078
samples = 9

value = -0.392

mse = 0.254
samples = 7

value = -0.916

mse = 0.012
samples = 2

value = -0.296

mse = 0.023
samples = 3
value = 0.172

X[21] <= 1.812
mse = 0.049
samples = 3
value = 0.17

X[8] <= 0.5
mse = 0.077
samples = 11
value = -0.246

mse = 0.01
samples = 2

value = -0.132

mse = 0.0
samples = 1
value = 0.322

mse = 0.045
samples = 7

value = -0.136

mse = 0.084
samples = 4

value = -0.368

X[19] <= -0.015
mse = 0.617

samples = 18058
value = 0.316

X[16] <= 0.5
mse = 1.055

samples = 1262
value = 0.012

X[2] <= 0.5
mse = 0.46

samples = 11044
value = 0.356

X[16] <= 0.5
mse = 0.857

samples = 7014
value = 0.253

X[1] <= 0.5
mse = 0.501

samples = 5201
value = 0.314

X[9] <= 0.5
mse = 0.42

samples = 5843
value = 0.393

X[3] <= 0.5
mse = 0.496

samples = 518
value = 0.17

X[9] <= 0.5
mse = 0.499

samples = 4683
value = 0.33

mse = 0.458
samples = 446
value = 0.199

mse = 0.66
samples = 72
value = 0.017

mse = 0.355
samples = 3786

value = 0.35

mse = 1.097
samples = 897
value = 0.245

X[21] <= -0.015
mse = 0.417

samples = 4213
value = 0.415

X[5] <= 0.5
mse = 0.426

samples = 1630
value = 0.335

mse = 0.416
samples = 4212
value = 0.415

mse = 0.0
samples = 1
value = 2.185

mse = 0.452
samples = 488
value = 0.263

mse = 0.411
samples = 1142
value = 0.367

X[1] <= 0.5
mse = 0.565

samples = 6708
value = 0.236

X[21] <= 0.673
mse = 6.942

samples = 306
value = 0.622

X[21] <= 0.697
mse = 0.693

samples = 345
value = 0.003

X[20] <= 0.5
mse = 0.555

samples = 6363
value = 0.248

mse = 0.637
samples = 197
value = 0.096

mse = 0.745
samples = 148
value = -0.137

mse = 0.523
samples = 5807
value = 0.233

mse = 0.873
samples = 556
value = 0.412

X[3] <= 0.5
mse = 2.906

samples = 160
value = 0.27

X[21] <= 0.684
mse = 11.485
samples = 146
value = 1.046

mse = 1.319
samples = 46
value = -0.141

mse = 3.382
samples = 114
value = 0.413

mse = 1.002
samples = 2

value = 10.486

mse = 10.416
samples = 144
value = 0.92

X[21] <= 2.54
mse = 0.669

samples = 1186
value = -0.017

X[9] <= 0.5
mse = 7.383
samples = 76
value = 0.498

X[19] <= 1.508
mse = 0.638

samples = 1068
value = 0.015

X[19] <= 2.565
mse = 0.851

samples = 118
value = -0.291

X[19] <= 1.506
mse = 0.544
samples = 22
value = -0.539

X[5] <= 0.5
mse = 0.633

samples = 1046
value = 0.027

mse = 0.344
samples = 14
value = -0.298

mse = 0.595
samples = 8

value = -1.021

mse = 0.695
samples = 412
value = -0.078

mse = 0.582
samples = 634
value = 0.095

X[15] <= 0.5
mse = 0.243
samples = 5

value = -1.357

X[21] <= 2.584
mse = 0.824

samples = 113
value = -0.241

mse = 0.072
samples = 4

value = -1.506

mse = 0.0
samples = 1
value = -0.16

mse = 0.033
samples = 5
value = 0.47

mse = 0.838
samples = 108
value = -0.28

X[7] <= 0.5
mse = 2.055
samples = 36
value = -0.241

X[20] <= 0.5
mse = 11.421
samples = 40
value = 1.199

X[19] <= 1.725
mse = 1.378
samples = 34
value = -0.368

X[31] <= 0.5
mse = 8.347
samples = 2
value = 3.06

mse = 0.619
samples = 12
value = -1.111

mse = 1.332
samples = 22
value = 0.025

mse = 0.0
samples = 1
value = 5.949

mse = 0.0
samples = 1
value = 0.171

X[29] <= 0.5
mse = 10.333
samples = 39
value = 0.969

mse = 0.0
samples = 1
value = 7.515

mse = 5.582
samples = 26
value = 0.326

mse = 17.503
samples = 13
value = 2.291

X[21] <= 1.879
mse = 0.588

samples = 5022
value = -1.027

X[6] <= 0.5
mse = 2.414

samples = 682
value = -0.548

X[19] <= 1.765
mse = 0.608

samples = 4579
value = -1.011

X[21] <= 1.917
mse = 0.362

samples = 443
value = -1.186

X[21] <= 1.48
mse = 0.594

samples = 4497
value = -1.016

X[15] <= 0.5
mse = 1.276
samples = 82
value = -0.756

X[31] <= 0.5
mse = 0.585

samples = 4221
value = -1.006

X[21] <= 1.569
mse = 0.703

samples = 276
value = -1.159

X[1] <= 0.5
mse = 0.601

samples = 3472
value = -0.99

X[19] <= -0.676
mse = 0.505

samples = 749
value = -1.08

mse = 0.493
samples = 240
value = -1.126

mse = 0.607
samples = 3232

value = -0.98

mse = 0.701
samples = 173
value = -0.953

mse = 0.438
samples = 576
value = -1.12

X[29] <= 0.5
mse = 0.267
samples = 85
value = -1.306

X[24] <= 0.5
mse = 0.863

samples = 191
value = -1.101

mse = 0.199
samples = 65
value = -1.401

mse = 0.364
samples = 20
value = -1.023

mse = 0.987
samples = 141
value = -1.016

mse = 0.515
samples = 50
value = -1.298

X[13] <= 0.5
mse = 1.366
samples = 73
value = -0.681

X[13] <= 0.5
mse = 0.044
samples = 9

value = -1.403

X[2] <= 0.5
mse = 1.257
samples = 51
value = -0.869

X[10] <= 0.5
mse = 1.372
samples = 22
value = -0.309

mse = 0.718
samples = 36
value = -1.114

mse = 2.061
samples = 15
value = -0.28

mse = 1.409
samples = 7
value = 0.488

mse = 0.559
samples = 15
value = -0.882

X[21] <= 1.81
mse = 0.016
samples = 5

value = -1.285

X[24] <= 0.5
mse = 0.035
samples = 4

value = -1.579

mse = 0.0
samples = 1

value = -1.009

mse = 0.007
samples = 4
value = -1.32

mse = 0.005
samples = 3

value = -1.704

mse = -0.0
samples = 1

value = -1.329

X[3] <= 0.5
mse = 0.11

samples = 23
value = -1.534

X[2] <= 0.5
mse = 0.37

samples = 420
value = -1.166

X[19] <= 1.906
mse = 0.046
samples = 16
value = -1.606

X[25] <= 0.5
mse = 0.248
samples = 7

value = -1.286

X[13] <= 0.5
mse = 0.019
samples = 9

value = -1.699

X[17] <= 0.5
mse = 0.046
samples = 7

value = -1.409

mse = 0.005
samples = 7

value = -1.749

mse = 0.001
samples = 2

value = -1.402

mse = 0.0
samples = 1

value = -0.962

mse = 0.027
samples = 6

value = -1.459

X[5] <= 0.5
mse = 0.057
samples = 6

value = -1.443

mse = 0.0
samples = 1

value = -0.029

mse = 0.024
samples = 4

value = -1.329

mse = 0.002
samples = 2

value = -1.782

X[18] <= 0.5
mse = 0.308

samples = 288
value = -1.222

X[19] <= 2.143
mse = 0.484

samples = 132
value = -1.044

X[9] <= 0.5
mse = 0.341

samples = 146
value = -1.139

X[21] <= 1.991
mse = 0.256

samples = 142
value = -1.312

mse = 0.24
samples = 112
value = -1.216

mse = 0.589
samples = 34
value = -0.887

mse = 0.216
samples = 20
value = -1.032

mse = 0.245
samples = 122
value = -1.368

X[19] <= 2.01
mse = 0.329
samples = 62
value = -1.211

X[21] <= 2.369
mse = 0.569
samples = 70
value = -0.906

mse = 0.406
samples = 24
value = -0.926

mse = 0.2
samples = 38
value = -1.389

mse = 0.775
samples = 26
value = -0.59

mse = 0.39
samples = 44
value = -1.065

X[21] <= -1.377
mse = 2.329

samples = 676
value = -0.565

X[32] <= 0.5
mse = 7.87
samples = 6
value = 1.121

X[15] <= 0.5
mse = 4.085
samples = 15
value = 0.153

X[19] <= -1.255
mse = 2.254

samples = 661
value = -0.589

X[7] <= 0.5
mse = 3.347
samples = 14
value = -0.163

mse = -0.0
samples = 1
value = 3.421

X[29] <= 0.5
mse = 2.67

samples = 13
value = -0.405

mse = -0.0
samples = 1
value = 3.346

mse = 0.775
samples = 10
value = -0.737

mse = 9.518
samples = 3
value = 1.67

X[7] <= 0.5
mse = 0.143
samples = 12
value = -1.5

X[19] <= -1.105
mse = 2.278

samples = 649
value = -0.572

X[8] <= 0.5
mse = 0.124
samples = 11
value = -1.537

mse = 0.0
samples = 1

value = -0.832

mse = 0.166
samples = 7

value = -1.423

mse = 0.006
samples = 4

value = -1.716

X[21] <= -1.129
mse = 7.158
samples = 19
value = 0.447

X[21] <= 1.07
mse = 2.116

samples = 630
value = -0.6

mse = 2.75
samples = 17
value = 0.019

mse = 29.217
samples = 2
value = 3.873

mse = 1.893
samples = 405
value = -0.687

mse = 2.464
samples = 225
value = -0.449

X[2] <= 0.5
mse = 0.049
samples = 5

value = -0.995

mse = 0.0
samples = 1
value = 4.825

mse = 0.0
samples = 1

value = -1.484

X[19] <= -0.838
mse = 0.011
samples = 4

value = -0.914

mse = 0.0
samples = 1

value = -1.035

X[19] <= 0.523
mse = 0.005
samples = 3

value = -0.853

mse = 0.0
samples = 2

value = -0.893

mse = -0.0
samples = 1

value = -0.733


